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Al 1,992,894 1,224,894 768,000
gt nsEd xd 6,255,294 5,487,294 768,000
= 3,209,000 3,209,000 0
=S 1,053,400 1,053,400 0
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= 3,209,000 3,209,000 0
== 962,700 962,700 0
Al 768,000 0 768,000
403 RXISHHMSKHE0IH 4,939,700 4,171,700 768,000
= 3,209,000 3,209,000 0
< 962,700 962,700 0
Al 768,000 0 768,000
02 SIIZSHCHSCHE AR 4,939,700 4,171,700 768,000
O&chdA LdSHHAMA 25
768,000,000& 768,000 0 768,000
deR= 2,078,730 1,772,730 306,000
2tel2et 2,078,730 1,772,730 306,000
HE CCTV 7= 1,762,926 1,456,926 306,000
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